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10mS60MW| 1| 1| 20[+= ¥ | 103.0| 101.6| 103.2 997 | 101.2]| 101.1 609.8
10mS60MW| 2| 1] 26[@E s [ 100.1 98.7 97.3| 101.6] 101.9 99.7 599.3
10mS60MW| 3] 1] 27lmm 21 996 | 101.9 95.6 99.1 99.3 97.7 593.2
10mS60MW| 4] 1] 21]sx 96.8 96.0 | 100.7 96.2 | 100.4 97.3 587.4
10mS60MW| 5] 1] 24|mno &= 98.5 99.3 99.7 95.4 97.4 93.4 583.7
10mS60M 6] 1] 19[wm =¥ 96.7 96.9 97.0 96.0 96.5 | 100.2 583.3 |EthT:&
10mS60MW| 7] 1] 23l#m fnx 96.1 925 87.0 95.8 95.3 92.3 559.0
10mS60M 8l 1] 17[ssx &S 91.9 90.5 89.9 91.9 90.3 94.5 549.0 (Eix %=
10mS60MW| 9] 1] 22]Fr = 78.5 77.4 87.2 80.2 86.7 83.6 493.6
10mS60MW| 10] 1] 16]h4t 5% 68.6 57.5 70.3 61.5 71.6 49.8 379.3
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10mS60W 2l 1] 29[2x £ 99.2 | 102.6 98.9| 100.3| 100.8| 100.3 602.1 [EixF:E
10mP60MW 2| 17| = DNS
AP60M 1 2] 21]mE xs 86 85 91 88 94 95 539 |Eth%:E
AP60M 2| 2] 20l = 85 87 87 89 86 86 520 |EkFE
AP60M 3] 2] 18]zn w&m 85 89 80 84 86 86 510
AP60M 4] 2| 19[:a8 B 74 80 85 81 88 83 491
AP60W 1| 2] 22|z &= 87 92 92 92 85 87 535 |EikFE
AP60W 2| 2| 23|82 »n 80 77 75 83 82 89 486 |EHF:E
10mS60MJ | 1] 2] 25|mm & 975 99.5 99.1 96.1 99.8 94 1 586.1 |EiAx¥:& B3
10mS60MJ | 2] 2| 24|zx ms= 93.9 91.5 95.4 96.5 97.6 97.3 572.2 |Eix%:E
10mS60MJ | 3] 2] 26ler = 95.0 91.7 96.4 90.5 91.4 71.9 536.9 [EixT:E
10mS60WJ | 1] 3] 24|zE £x 99.3 96.8 99.7 98.4 [ 100.0 98.9 593.1 [Eix¥:& B
10mS60WJ | 2| 3| 25l @& 99.9 99.7 93.4 98.7 94.9 97.2 583.8 [Eix¥:&
10mS60WJ | 3] 1] 25[xm mm 96.2 94.3 95.0 98.3 94.8 97.1 575.7 |EixT:E
10mS60WJ | 4] 1] 24|E®m =21 99.8 95.7 86.9 97.3 94.4 92.4 566.5 |Eix¥:E
BRS6OMW | 1] 1] 1]eE &% 80.4 80.4 91.4 88.2 89.9 88.8 519.1
BP6OMW 1l 2] 1l =2 79 85 85 87 87 77 500
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